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 1. . 

1. : Ag2O  HNO3  CaCO3  NaOH - 
SO2  IV . 

2. Ag2O, SO2  HNO3  NaOH  CaCO3   

3.  

Ag2O + 2HNO3 = 2AgNO3 + H2O (    

2Ag2O + SO2 
C100 o

 Ag2SO4 + 2Ag -  
2HNO3 + CaCO3 = H2O + CO2  + Ca(NO3)2 (    ); 
HNO3 + NaOH = H2O + NaNO3 (  

 ); 
2HNO3  + SO2 = H2SO4 + 2NO2 

   
2HNO3  + 3SO2 + 2H2O = 3H2SO4 + 2NO  
CaCO3 + SO2 = CaSO3 + CO2  
NaOH + SO2 = NaHSO3 NaOH + SO2 = Na2SO3 + H2O ( ). 

4. AgNO3  
), Ag2SO4  Ag  H2O  CO2  IV), Ca(NO3)2  

NaNO3  H2SO4  NO2  IV) NO  II), CaSO3  
NaHSO3  Na2SO3   

5.   

Ag2O C300160 o
 4Ag + O2   

2H2O 
 NaOH,

 2H2 O2 H2 + Ag2O C150o
 H2O + 2Ag  

Ag2O + 2HNO3 = 2AgNO3 + H2O,  2AgNO3 
C300o

 2Ag + 2NO2 2  

) CaCO3 
C1000o

 CaO + CO2 ,  CaO + H2O = Ca(OH)2  
2HNO3 + CaCO3 = H2O + CO2  + Ca(NO3)2,  Ca(NO3)2 + 2NaOH  Ca(OH)2  + 2NaNO3; 

) 2HNO3 + SO2 = H2SO4 + NO2,  H2SO4 + 2NaOH = Na2SO4 + 2H2O ,    , 
2NaOH + SO2 = Na2SO3 + H2O,  2Na2SO3 + O2 = 2Na2SO4. 

6.  CaCO3 Na2SO3  Ag2O AgNO3. 

 

CaCO3 + 2HCl = CaCl2 + H2O + CO2   
Na2SO3 + 2HCl = SO2  + 2NaCl + H2O  
Ag2O + 2HCl = AgCl + H2O  -  ); 
AgNO3 + HCl = AgCl  + HNO3   ). 

 
1.  0,5 5 =  
2.  0,5 5 =  
3.  (1+0,5) 7 = 10,5  
4. -   0,5 11 = 5  
5.  2 3 =  
6.  , 

 (1+1+0,5) 2 = 5  
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2.  

1.  
.  

-  

    

  
  . , T). 

 n(NaHCO3  
n(CO2) = n(NaHCO3 m(CO2)  = 3 .  

5] n(CaCO3  = n(CO2) m(CaCO3) =  . 

   
  NaxHey WHe = 4y/(4y+23x) = 0,08. 

23x/4y = x/y = 2. , Na2He. 

  
 

 
 x -x)+11x x = 0,81 81 %. 

  
 

LiH . 

 -   
 

CaF2), Ca5(PO4)3F Na3AlF6).  

2. [1-9]: [1] 2H2 + O2 = 2H2O;  

[2] Zn + 2HCl = ZnCl2 + H2  

[3] 2H2O 
 NaOH,

 2H2 + O2  

2NaCl + 2H2O  2NaOH + H2 + Cl2   

C + H2O 
C, ot

 CO + H2   

CH4 + H2O 
C, ot

 CO + 3H2   

CO + H2O 
C, ot

 CO2 + H2; 
[4] HA + NaHCO3 = NaA + H2O + CO2 ;  
[5] Ca(OH)2 + CO2 = CaCO3  + H2O; 
[6] LiH + H2O = LiOH + H2 ;  
[7] 2H2O + 2F2 = 4HF + O2; 
[8] SiO2 + 2F2 = SiF4 + O2;  
[9] Pt + 3F2 = PtF6  

 Pt). 

3.  . 
 ,  

 
1.  0,5 8+1 2  =  

 0,5 5 =  

Na2He, LiH, PtF6 
11B  1 3+2  =  

2.  1 9 =  
3.  2+1+0,5 3 =  

  

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
2

2 3 1
2 3 2 5 2 5 8 4 2
4 2 3 4 10 5 5 3 3 1 5 2 3 3 3 3 2 9

2 5 1 5 3 5 1 1 2 1 1 5 9 5 4 1 3 2 1 5
4

2 3 1
4 2 1

8 3
2 7 5

1 2 6 2
2 4 1
3 2 1
5 1 3
8 4 1

3 3 5 1
2 2 5 1
2 3 4 2
1 2 2 2

1 2

1 1 3 1 1 1 2

1 1 1 1 1 1 2

3 1 3 1 2

1 1 1 1 1 1

1 1 1 3 2
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 3.  

1. 
   . 

 
 . 

  ) 
H2O2 ( ), 30 - 

, 
 5. 

2. 
- 

 

3.  

  H2O2

1,25- -  

H2O2 (36 %)  

 

4. H2O2 
H2O2 = H2O + O

 

2  H2O + O = H2O2

 
 ,   

5.  BaXn nMx nMx 
BaS BaO2  

 
 

 

BaO2 + H2SO4 = BaSO4 H2O2. 

6. [1-8]:  

[1] 2Fe(OH)2 + H2O2 = 2Fe(OH)3; [2] Mn(OH)2 + H2O2 = MnO2 + 2H2O; 
[3] 2KI + H2SO4 + H2O2 = I2 + K2SO4 + H2O; [4] 2HCl + H2O2 = Cl2 2O;  
[5] PbS + 4H2O2 = PbSO4 + 4H2O; [6] Ag2O + H2O2 = 2Ag + H2O + O2  
[7] 2KMnO4 + 3H2SO4 + 5H2O2 = 2MnSO4 + K2SO4 + 8H2O + 5O2  
[8] MnO2 + H2SO4 + H2O2 = MnSO4 + 2H2O + O2  

 
1.  -

   2+1 2 = 4  

2.   1  
3.  . 2 2+2 = 6  
4.  2  , O2 
O3) 1  

2+1 = 3  

5.    2+1 = 3  
6.   1 8 = 8  
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 4. .  

1.  
  = Fe

  
 

  = 
Si   .   

M( O2) = (16*2/(1-0,467)) = 60 
M( ) = 60 -  

 )*2 + 16*7) = 0,413, 
 = Cr  = (NH4)2Cr2O7  

2.  
[1] Fe + H2SO = FeSO4 + H2; 
[2] 2Cr + 3H2SO = Cr2(SO4)3 + 3H2; 
[3] Si + 4HNO  = SiO2 + 4NO2 + 2H2O; 
[4] FeSO4 + 4HNO  = Fe(NO3)3 + NO2 + H2O + H2SO4; 
[5] (NH4)2Cr2O7 + 3Na2SO3 + 4H2SO4 = Cr2(SO4)3 + (NH4)2SO4 + 3Na2SO4  + 4H2O; 
[6] (NH4)2Cr2O7 + 3Na2SO3  + 2H2O = 2Cr(OH)3 + 3Na2SO4 + 2NH3; 
[7] (NH4)2Cr2O7 + 3Na2SO3  + 6NaOH + 2H2O = 2Na3[Cr(OH)6] + 3Na2SO4 + 2NH3; 
[8] (NH4)2Cr2O7 = Cr2O3 + N2 + 4H2  

3.  n(Si) = n(SiO2) = m(SiO2)/M(SiO2) = 
m(Si) = n(Si)* M(Si  

(Si) = m(Si)/m  
: m( ) = *m 2) = 0,467*12,8 = 5,98 ). 

m(Cr) = 7,7*10-2*52    (Cr) = (0,004/1)*100% = 0,4%. 
  (Fe) = 100  0,6  0,4 = 99% 

4.     ,   
. 

 -  = Fe2O3

 
 -9,3)/207 : 9,3/16 = 0,439 : 0,581 = 3 : 4,  = Pb3O4. 
 100-31,6)/52 : 31,6/16 = 1,315 : 1,975 = 2 : 3,  = Cr2O3. 

 n/2 n  
M( ) = (8/0,5)*n = 16,0*n

- n M 
n  = SO2.  

  2  
 = FeS2. 

 
[9] Fe2O3 + 6HNO3( .) = 2Fe(NO3)3 + 3H2O; 
[10] Pb3O4 + 4HNO3( .) = 2Pb(NO3)2 + PbO2 + 2H2O; 
[11] 4FeS2 + 11O2 = 2Fe2O3 + 8SO2. 

 
1.      1 5 = 5  
2.   1 8 =  
3. -    2 . 2 3 = 6  
4.    2 . 2 5+1 3 = 13  
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